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Biology Model Paper-3

AIDS is caused by

A) Virus B) bacteria C) Fungus D) Protozoans
o0k EOA0E BN
A) 38 B) erfoasr C) Horfd D) @%3°&°5S

HIV is not spread by the following ways
A) mosquito bite B) unsafe sex
C) infected mother to child D) through transmission of infected blood

250 58 BoLD Ergo

A) &55oseen B) o880 520 8oAE Sozogren
C) 50 85 59 0D FHIS D) =efind 385 558 $:00 5508

a person with HIV infextion may leads
A) fever B) amoebicdycentry  C) skin diseases D) all

QoG R €& 8od oFerors EORGOETE
A) e85 B) &3Sceen C) Seaegeden D) 238

bone deformities occur due to the excessive intake of
A) phosphorous  B)potassium C) fatty acid D) flurine

A8 ST BE°BKE0 S0 ALwES® Saeen SJzan?
A) ay8S B) arerdiabo C) aredessiyo D) 2¢a5

deficiency of iron causes
A) diabetes B) rickets C) anaemia D) scurvey

288 &0 B0 2633 RN
A) 053630 B) 83@35(3 C) Do D) B85

recent studies have shown that obesity is
A) not inheritable B) contageous C) inheritable D) infective

28359 ST Se seahEco HB0D 3OS DHOHO VeI ?

A) éo%@vcfgoédo 5o B) 288 %009 2,588 J8Hehod
(09 aﬁo%févdego SN D) Srogdny g8
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deficiency of thiamine causes

A) glossitis B) pellagra C) scurvy D) beriberi
AN %% Sg STy o586

A) 80 B) 2erre C) 69 D) 3838

sir H.g.hopkins discovered a substance required for growth is

A) water B) alcohol C) milk D) vanaspati
0&HE0E $502000DS & ST 88 D & T8y BT ?

A) d%H B) we)std C) aren D) 55548

the vitamin required for the synthesis of nucleic acid is

A) tocoferol B) folicacid C) cyanocobalamine D) riboflavin
572588 e $035e5°08 SBEBahg HERS

A) exE5po0eS B) &085 uHhsn  C) SoHS*EPeroRds D) 35 essdoson
the vitamin that prevents sterility in males is

A) E B) B, C)C D) A
D& $0e558e50 ToOT Fo20 DEIDOS

A) 3 B) &, C) & D)5

vehicle born transmitted diseases are
A)plangue and malaria B)chicken fox and tetanus
C) mumps and common cold D) eye infection and influenza

TESD wRgoe g BOB avgihen
A) Lo, SHdease B) wtoiy, $komgssn
C) HS5esdeen, e D) §oé%aawe), pesgieson

carrier organisms of yello- fever are

A) mosquitos B) rats C) monkeys D) house flies
DE° 2300°08 Teeasihclhy aeEeEEne

A) &en B) Qengex C) &%Hen D) &afex
hepatitis virus destroys liver cells and may causes

A) jaundice B) malaria C) typhoid D) filarisis
THBE0 IOV e TESo Bado Sg STy g6

A) =g 56 B) s880fm C) 8aroné D) &% a5
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primary health centres spread over for --- villages
A PETDH of  (FENE w8 Boo sotnod?

A)100 B) 10 C) a0 D) 1000

lodine can be used to test the presence of

A) glucose B) light C) starch D) corbondiaxide
SBPES St 808 73D EACSER8 &HATAID

A) KrsiE B) 5008 C) 208 Sargo D)3 e83&

the process in which energy stored in corbohydrales released is known as
A) photo synthesis B) respiration  C) reproduction D) excretion
8 REE)E0S® ¢ok 8 Dede T Bad

A) 88emzlgsodm8ah  B) wegoigad C) @558 D)i$5:8 18

conversion of glucose to pyruvic acid yields net gain of
A) 2 ATP B) 36ATP C) 4 ATP D) 38 ATP

HE°E 2HDE wshorr dEYESH 0B DEE eraso
A) 2 e85 eenen B)3B 263 wenhen C) 4 dedd eenden D) 88 d¢3d eemnsyen

operculum occures in

A) bony sishes  B) frog C) cockroach D) cartilagenous fishes
&5 o 2D

A) 23S B) gy C) &°gos D) soeherd 32

the structure that acts as a lid over glottis

A) tongue B) gilli lamella  C) epiglottis D) operculum
So8Reo o Sirder HIWD o0

A) Treny B) 3005y HeOY C) sPodreny D)esose

cutaneous respiration occurs

A) cockroach B) salamander C) crab D) parrot
S 8oh B wshrheEon ?
A) &gos B) drosross  C) 8 D) 9en¥
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red blood cells (erythto cytes) are absent in

A) frog B) earth worm C) snakes
QBBEEereen B &

A) €5y B) drodrosd C) arsw
sinus vensus is associated with

A) lung B) brain C) gills
202383 B8 5020080036 ?

A) 2688 B) Roeseod C) msyes

heart attack is caused by blocking of
A) pulmonary artery B) coromary artery
C) coromary vein D) pulmonary vein

388 9500 336(3&3 HoaIBen Sdod?
A) H9y5 59D B) s $:59 C) oyesad 58

incompletely divided verricle occures in
A)fish B) frogs C) reptiles

eSorgore Dafed Bods 28y so R
A) Bbeo B) gyen C) 56:5ydeen
the flid obtained after the alotting of blood is

A) plasma B) deoxygeneted blood
C) oxygented blood D) seru

8g0 HEESS Soed 0ol ($o
A) arm) B) essed 8308 850 C) do

karal landsteiner discoverd

A) blood corpuscles B) blood groups C) blood vessels

5S wod %265 SEATA

D) peacock

D) 359

D) heart

D) eye5c%0

D) 9%y &5

D) birds

D) es5freed S8 S¥o

D) proteins in blood

A) Seseen B) sgsSoren C) Sgegoen D) 85080 @eedoen
agglutination of blood is due to reactions between

A) plasma and antibody B) lymph and antigen

C) antibody and hamone D) antigen and antibody

SErH5E8eseR8 5°8eagdS H8g

A) Fodo- @8 SgEsn B) 90555550 —(@8as850

C) 88 gEEs0-586%5 D) £8 5850 - (©5a5EEs
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dictyledonous weeds are destroyed by a chemical called
BSE AL) KRB o TFSo B2 EIPahSo
A) IAA B) NAA C) ABA D) 2,4-D

. the gland that is present close th trachea is
A) pancreas B) liver C) adrenal D) thyriond
TeOHoTeeeR8 SHEm Got (o8
A) 55080 B) sedahdm C) a5 ufos  D)edeniios
conversion of glycogen to glucose is stimulated by
A) insulin B) cortisol C) glucose D) progestrone
Q?&Sﬁa Hr&Parmre S0y &°6%%
A) 88500 B) 500308 C) rrsemes D) SRS
the major centre to receinve analyze and integrate information in body is
A) heart B) synapsis C) pitutary gland D) brain
TGO (ferod 3R $0FR0N $BahHo SnagSoto
A) EyEaho B) a0y C) datriod D) Soesesd

the number of pairs of cranial nerves in man are

SSHAE® EFeoTHe ade Sosg

A) 10 B) 11 C) 12 D) 13

the cranival nerve that controls the herat beat

A) vegus nerve  B) cyton C) dendrite D) diencephalon
Sy Syocssen  EFroTrd wh$os® Goeron

A) 35D & B) ¢S C) Go@ewen D) 65°5c5°ﬁ’5®c§o
the decade from 1990 to 2000 is known as

A) decade of heart B) decade of ear

C) decade of eye D) decade of brain

1990 So0D 2000 7o) o aorfor H8He8IDd

A) Sysah aborfo B) #S&o@o% otorfo

C) Jgasnio D) 05 oo
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in stem cutiiongs a slanting cut is madle in the stem

A) below the node B) above node C) onthe node D) across the node
TP0R) BEBENE® TP0TPR) DerToOTe MTEw Bw Koo

A) Bed) 808 grifo B) ge0sd &ocs C) geHps D) g egore
chrysanthemum propagales often by means of

A) grafting B) suckers C) budding D) binary fission
D008 ), FTEEOMT o BEB Gegoe g BorhEon?

A)eotn Eeto B) dogdngHes  C) Swifen &ibes D) a&gze R

in yeasts asexual reproduction occurs by

A) binary fission B) sporulation  C) budding D) conidia
RS Jeeaon 300 ©SoNE*ENE DeeSsm

A) 280508 B) age 20y C) 88esssn  D)wahs 928
carpels are present in

A) androcium B) pistil C) ovules D) seeds
HOEFTED GOGBD

A) Edoes5? B) ev08855m C) ewoween D) d&meen

endosperm nuclus forms from the fission of male gamete with

A) egg B) secondary nucleus
C) zygole D) synergids
HBK B0 Desio 8od 0638° Koo BobS LOKSS) B0 (SN B8
A) & e Eeoso B) &c8ah geasson
C) Socsgesso D) 23558

. the strength lost by repeated linary fission is regained by
A) conjugation  B) budding C) sporulation D) internal fertilization
BB S §°6% 0w ¥ 8BA KoardoiHE ST 28R CHo STty
A) Sodifo B) m9car$yd  C) 2 88°%)8 D) wosb $eissno
the micronucleus of paramoecium controls
A) respiration B) digeslion C) excretion D) reproduction
DENAHHS® $mg) BoESEEn wh$os® ot S5
A) 75580 B) £g@anh C) g5 D) e85y
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92. in earthworm fertilization occurs in

A) testes B) ovaries C) serminalvesicles D) cocoon
o TIFHNE® HbEsno 8K atiHEon

JARENSE IS B) &9es Sfeen C) HErerEen D) getssm
93. milt of frog consists of

A) ova B) sperm mothe cells

C) spermatozoa D) ova and sperma tozoa
o 5y WSS sotd

A) oseseen B) BHESr S Seaoen

C) Hg8eoren D) % E8eren, eoiseren

94. tests secrete teh harmone

A) estrogen B) proge strone C) testo strerone D) fish
o Snpen & Doy GG

A) QEES B) @&@3es C) 838yoes D) fish
95. a cromosome of spermatozoan helps in

A) digestion B) locomotion C) excrelion D) fertilization
o DELEI 40k IEBPE’D Q BEES® B &H0b

A) S58aH B) So% &aH C) 2 D) $e&8500

96. we required about --_ milligrams of calsium per a day
o I (HEHI0 TN své)ob’ao QAT

A) 300-400 gms B) 400- 500 gms C) 500-600 gms D) 600-700 gms
97. when more than 20 percent of the body weight is due to fat the person suffers from
A) marasmus B) kwashiorkor C) scurvy D) obesity
o #0680 2HPHS® 20 TEo Ko&l S whY FP S0l wand « 5588 252‘33 A
A) TRV B) se&&3)6 C) %85 D)‘és;easvoﬁao
98. rickets is caused due to the deficiency of
A) carolene B) calsiferol C) cynocobalamine D) thiamine
o DS Ho g BBy Tgh KenrHHoh?
A) 38%30HS B) 0 20°8 C) S0 eronS D)&csens

www.sakshieducation.com



www.sakshieducation.com

99. deficiency of pantothenic acid results in lurning og

A) stomach B) hands C) feet
o JoTHIE wf %0 So Hoten Kol o
A)EEE> 550 B) Schen C) =%
100. carriers of hepatitis are
A) monkeys B) mosquitoes C) rats
o THBEBR GBS TPLPEOeD
A)s8sHen B) &%%en C) den¥en
ol)A B82)A 83)D H4)D 59 C
o() D 88)C 89)B 60)A 61)A
63)A 64)A 65C 66)B B60A
69)C TW)B T)B T)D 1T13)B
D 1B TOD 18D 19D
8)D 82)C 83)A 84)D 85A
81)C 88)B 89)B 90)A 91)D
93)C 949)C 9)D 96)B 91D
99)C 100) D
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06) C
62) C
68) A
74)C
80) C
86) B
9)D
98)B

D) heart

D) #eye50%0

D) human beings

D) Sessden



